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Areas Of Parallelograms And Triangles

1. The median of a triangle divides it into two

A. triangles of equal area


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_zCI34errsQAZ

B. congruent triangles

C.right angled triangles

D. isosceles triangles

Answer: A

o Watch Video Solution

2. In which of the following figures, you find
two polygons on the same base and between

the same parallels?


https://dl.doubtnut.com/l/_zCI34errsQAZ
https://dl.doubtnut.com/l/_JdXKY713fwOD
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Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_JdXKY713fwOD
https://dl.doubtnut.com/l/_38IWF8qZbJFF

3. The figure obtained by joining the mid-
points of the adjacent sides of a rectangle of
sides 8 cm and 6 cm, is

A. a rectangle of area 24cm?

B. a square of area 25c¢m?

C. a trapezium of area 24cm?

D. a rhombus of area 24cm?

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_38IWF8qZbJFF

4. In the figure, the area of parallelogram

ABCD is

A.AB x BM

B. BC x BN

C.DC x DL

D.AD x DL

Answer: C


https://dl.doubtnut.com/l/_2kuEmx41fOvj

° Watch Video Solution

5. In figure, if parallelogram ABCD and

rectangle ABEM are of equal area, then

|

A

A. perimeter of ABCD = perimeter of ABEM

B. perimeter of ABCD < perimeter of

ABEM

C.perimeter of ABCD > perimeter of

ABEM


https://dl.doubtnut.com/l/_2kuEmx41fOvj
https://dl.doubtnut.com/l/_DX2umgAjcyWE

1
D. perimeter of ABC'D = 3 (perimeter of

ABEM)

Answer: C

o Watch Video Solution

6. The mid-point of the sides of triangle along
with any of the vertices as the fourth point

make a parallelogram of area equal to

1
A. Ear(ABC)


https://dl.doubtnut.com/l/_DX2umgAjcyWE
https://dl.doubtnut.com/l/_hjxfGryr8TUz

1
B. gafr(ABC’)
C.2ar(ABC)

D.ar(ABC)

Answer: A

o Watch Video Solution

7. Two parallelograms are on equal bases and
between the same parallels.

The ratio of their areas is


https://dl.doubtnut.com/l/_hjxfGryr8TUz
https://dl.doubtnut.com/l/_O2PkzoQQL9aE

Al:2

B.1:1

C.2:1

D.3:1

Answer: B

o Watch Video Solution

8. ABCD is a quadrilateral whose diagnonal AC
divides it into two parts, equal in are, then

ABCD


https://dl.doubtnut.com/l/_O2PkzoQQL9aE
https://dl.doubtnut.com/l/_pHER1gyXlilX

A.is a rectangle

B. is always is rhombus

C.is a parallelogram

D. need not be any of (a), (b) or (c)

Answer: C

o Watch Video Solution

9. If a triangle and a parallelogram are on the

same base and between same parallels, then


https://dl.doubtnut.com/l/_pHER1gyXlilX
https://dl.doubtnut.com/l/_dp2YC1zBkh2X

the ratio of the area of the triangle to the area

of parallelogram is

A1:3

B.2:1

C.3:1

D.1:4

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_dp2YC1zBkh2X

10. In a trapezium ABCD, AB || DC, AB = a cm,
and DC =b cm. If M and N are the midpoints of
the nonparallel sides, AD and BC respectively
then find the ratio of ar(DCNM) and ar(MNBA).

Aa:b

B.(3a + b): (a + 3b)

C.(a+ 3b):(3a + b)

D.(2a + b): (3a + b)

Answer: B

‘ ° Wiak hh \AAA CAaliikianm



https://dl.doubtnut.com/l/_1Cvqus40yeyd
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11. ABCD is a parallelogram and X is the mid-
point of AB. (AXCD) = 24cm?, then

ar(ABC) = 24cm?.

o Watch Video Solution

12. PQRS is a rectangle inscribed in a quadrant
of a circle of radius 13 cm and A'is any point on

PQ.If PS =5 cm, then ar (APAS) =.


https://dl.doubtnut.com/l/_1Cvqus40yeyd
https://dl.doubtnut.com/l/_BMqs6itaIa6r
https://dl.doubtnut.com/l/_OeBbKmzLJOs4

A. 32.5cm?

B. 30cm?

C. 35¢cm?

D. 12.5¢m?

Answer: D

o Watch Video Solution

13. PQRS is a parallelogram whose area is
180cm? and A is any point on the diagonal QS.

The area of AASR?


https://dl.doubtnut.com/l/_OeBbKmzLJOs4
https://dl.doubtnut.com/l/_mQ5ioC9jXM5P

A. Equal to 90cm?
B. Greater than 90cm?
C. Less than 90cm?

D. None of these

Answer: C

o Watch Video Solution

14. ABC and BDE are two equilateral triangles
such that D is the mid-point of BC. Then,

1
ar(ABDE) = §ar(AABC).


https://dl.doubtnut.com/l/_mQ5ioC9jXM5P
https://dl.doubtnut.com/l/_0k2NhPFbN7sO

A. True

B. False

C. Partially true

D. None of these

Answer: A

o Watch Video Solution

15. In the figure, ABCD and EFGD are two

parallelograms and G is the mid-point of CD.


https://dl.doubtnut.com/l/_0k2NhPFbN7sO
https://dl.doubtnut.com/l/_I4gzCZt7nuqy

Then,ar(ADPC) = ar(EFGD).

A. True

B. False

C. Partially true

D. None of these

Answer: A



https://dl.doubtnut.com/l/_I4gzCZt7nuqy

L ' Watch Video Solution J

16. In the figure, PSDA is a parallelogram.
Points Q and R are taken on PS such that
PQ = QR = RS and PA||QB||RC. Prove

that ar(PQE) = ar(CFD).

p_Q R S
E

o Watch Video Solution



https://dl.doubtnut.com/l/_I4gzCZt7nuqy
https://dl.doubtnut.com/l/_lPU3uubK7DQX

17. X and Y are points on the side LN of the
triangle LMN such that LX = XY = YN. Through
X, a line is drawn parallel to LM to meet MN at

Z (see figure). Prove that

ar(ALZY) = ar(MZY X).

L

o Watch Video Solution



https://dl.doubtnut.com/l/_lPU3uubK7DQX
https://dl.doubtnut.com/l/_xDFahLXdSMtz
https://dl.doubtnut.com/l/_A3hv9FxGWSYn

18. The area of the parallelogram ABCD is
90C'M?*. Find
(i) ar (ABEF) (ii) ar (AABD)

(iii) ar (ABEF)

D E C

° Watch Video Solution



https://dl.doubtnut.com/l/_A3hv9FxGWSYn

19. In A ABC, D is the mid-point of AB and P is
any point on BC. If CQ | | PD meets AB and

Q (shown in figure), then prove that

ar(ABPQ) = %ar(AABC).

A

o Watch Video Solution



https://dl.doubtnut.com/l/_ewUjx7BoGcXY
https://dl.doubtnut.com/l/_RPJtgKs5Dw8G

20. ABCD is a square. E and F are respectively
the mid-points of BC and CD. If R is the mid-

point of EF, prove that

ar(AAER) = ar(AAFR).

A D
F

R
B E C

o Watch Video Solution



https://dl.doubtnut.com/l/_RPJtgKs5Dw8G
https://dl.doubtnut.com/l/_MrW1NUNaA6Uv

21. O is any point on the diagonal PR of a

parallelogram PQRS (figure). Prove that

ar(APSO) = ar(APQO).

o Watch Video Solution

22. ABCD is a parallelogram in which BC is

produced to E such that CE = BC. AE intersects


https://dl.doubtnut.com/l/_MrW1NUNaA6Uv
https://dl.doubtnut.com/l/_Q7wnczl8yRzS

CD at F.

If ar(ADFB) = 3cm?, then find the area of

the parallelogram ABCD.

° Watch Video Solution

23. In trapezium ABCD, AB | | DC and L is

the mid-point of BC. Through L, a line


https://dl.doubtnut.com/l/_Q7wnczl8yRzS
https://dl.doubtnut.com/l/_yB21tiYOqYJZ

PQ | | AD has been drawn which meets AB
in P and DC produced in Q. Prove that ar
(ABCD) = ar (APQD).

5 e

o Watch Video Solution

24. If the mid-points of the sides of a

quadrilateral are joined in order, prove that


https://dl.doubtnut.com/l/_yB21tiYOqYJZ
https://dl.doubtnut.com/l/_5oHO8PVyzpwb

the area of the parallelogram, so formed will

be half of the area of the given quadrilateral

(Aigure).
A al D
S
F
B
P

o Watch Video Solution



https://dl.doubtnut.com/l/_5oHO8PVyzpwb

25. A point E is taken on the side BC of a
parallelogram ABCD. AE and DC are produced

to meet at F. Prove that

ar(AADF) = ar(ABFC).

o Watch Video Solution

26. The diagonals of a parallelogram ABCD
intersect at a point O. Through O, a line a

drawn to intersect AD at P and BC at Q. Show


https://dl.doubtnut.com/l/_vzW6Mdv8rx8K
https://dl.doubtnut.com/l/_2Kgi01qSisGk

that PQ divides the parallelogram into two

parts of equal area.

° Watch Video Solution

27. The median BE and CF of a triangle ABC
intersect at G. Prove that the area of

AGBC = area of the quadrilateral AFGE.

° Watch Video Solution



https://dl.doubtnut.com/l/_2Kgi01qSisGk
https://dl.doubtnut.com/l/_mAaop78DtMPx

28. In figure, CD | | AE and CY | | BA.

Prove that ar(ACBX) = ar(AAXY).

C D

o Watch Video Solution

29. ABCD is trapezium in which AB | | DC,
DC =30 cm and AB = 50 cm. If X and Y are,

respectively the mid-points of AD and BC,


https://dl.doubtnut.com/l/_YvJ58MRHoSEp
https://dl.doubtnut.com/l/_Ec5t2YAfZwuh

prove that

ar(DCY X) = %ar(XYBA).

° Watch Video Solution

30.In AABC ,if Land M are the points on AB
and AC, respectively such that LM | | BC.

Prove that ar(ALOB) = ar(AMOC).

° Watch Video Solution



https://dl.doubtnut.com/l/_Ec5t2YAfZwuh
https://dl.doubtnut.com/l/_YEufuLDmsItM

31.In figure, ABCDE is any pentagon. BP drawn
parallel to AC meets DC produced at P and EQ
drawn parallel to AD meets CD produced at Q.

Prove that ar(ABCDE) = ar(AAPQ).

oy

o Watch Video Solution

32. If the medians of a /A ABC intersect at G,

show that


https://dl.doubtnut.com/l/_5CfjumF1V1vi
https://dl.doubtnut.com/l/_EH6itHxTdZx9

ar( N AGB) = ar( AN AGC) = ar( A BGC)

1
= gar( AN ABC).
A
F
G E
B D C

° Watch Video Solution



https://dl.doubtnut.com/l/_EH6itHxTdZx9

33. In figure X and Y are the mid-points of AC
and AB respectively, QP | | BC and CYQ and
BXP are straight lines. Prove that
ar(AABP) = ar(AACQ).

Q. v

0™

B L O

o Watch Video Solution



https://dl.doubtnut.com/l/_usVwo1dgJzk3

34. In figure, ABCD and AEFD are two

parallelograms. Prove that
ar(APEA) = ar(AQFD).
E

C Q D

o Watch Video Solution



https://dl.doubtnut.com/l/_fEnYR6PFvMhT




